
Abstract: Consider the product (4π)(4π − 1/π)(4π − 2/π)(π − 2/π)(4π −
4/π) . The product of the first three terms is 1836.15. The product of
the last two terms is 134.72. The mass ratio of the proton to the electron
is 1836.15. We may sharpen the result by letting the last two terms be
(4π − 3/π)(4π − 4/π) = 131.13.

Higgs Boson: A formula is developed for the Higgs Boson. It uses terms
consistent with an earlier formula for the mass ratio of the Proton to the
Electron. The Higgs Boson is about 133 times the mass of a Proton.
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I personally like the extension to the formula:

(
4π − 3

π

)(
4π − 4

π

) [
(4π)

(
4π − 1

π

)(
4π − 2

π

)]
(4)

= 240773.7047 . . . ≈ 131.13 × mp

me

(5)

mp/me ≈
2∏

n=0

(
4π − n

π

)
mΩ/me ≈

4∏
n=0

(
4π − n

π

)
(6)

Here mΩ stands for the mass of the Higgs Boson.
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